<x2—3x—4>2+(x2—x—2)2=0

3aMeHa MePEMEHHBIX.

ITycTh A=x2—3x—4; B=x2—x—2

B pesynbrare .

A2+BZ=0

BO3MOJKHBIC CITy4daH.
1)B=0.
B »Tom ClIy4ac UCXOOHOC YPAaBHCHUC CBOAUTCA K YPABHCHHIO

x2-3x-4:0

Haxomum nuckpuMuHaHT.
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2):B#0.
A%+B%=0

B 3TOM citydae ncxoaHoe ypaBHEHHE CBOAUTCS K YPABHEHUIO

A2, . _
(Bj +1=0

3aMeHa MePEeMEHHbIX.

x2—3x—4
Ilycts t= 2

X -X-2

B pesynbrare .

t2+l=0

t2=—1 HET pelIecHuM.



otBeT: X=-1.

1 N 10 1 10 1 10 3
a+7 91- 4a_a2 a+7 a2+ 4a-21 a+7 (a-3)(at+7)
a-3 10 a-3-10 a-13
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